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- 393,449
I A THEES 456,767 445,768 10,999
= 63,318
- 393,449
HENE2Y 177,200 177,200 0
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—B4 30,000& ¥ 1L Ax 123 360
= 180
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—13812 J|E Z&H| 6,402& %9,950A4 63,700
= 31,850
T 31,850
—6E12 J|= Z&H| 8,002 7524 601
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—S|ANE SSH| 8,002 1004 801
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- 400
—0le)dd HEH| 26,6753 1004 2,668
= 1,34
= 1,334
OMEFEDI S204al|
8,000 x4 112 3,584
= 1,792
T 1,792
202 o4l 4,000 4,000 0
= 2,000
T 2,000
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= 2,000
- 2,000
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= 1,000
= 1,000
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= 1,000
- 1,000
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OThN &8 822 2,670
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OHMENHIXIA L2 EHE 27,000
—HI= 203 +50,0000H+92 9,000
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OHMEHHDIXIA HIZ
65,0003 %152 A 975
OH=Al =+ 28+
70,0003 4 0H*23 560
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OSSR S2 24l
8,000 36 24! x3E 1,728
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201 e Y] 20,463 16,623 3,840
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